
Giải bài 1 trang 75 SGK Toán 4 tiết Luyện tập chung

Bài 1 (trang 75 SGK Toán 4): Viết số thích hợp vào chỗ chấm:

a) 10 kg = … yến

100kg = …tạ

50 kg = … yến

300kg = …tạ

80kg = …yến

1200kg = ..tạ

b) 1000kg = …tấn

10 tạ =….tấn

8000kg =…tấn

30 tạ = ….tấn

15 000kg = …tấn

200 tạ = …tấn

c) 100cm2 = …dm2
100dm2 =…m2
800cm2 =…dm2
900dm2 =…m2
1700cm2 =…dm2
1000dm2 = …m2
Lời giải:
a) 10 kg = 1 yến

100kg = 1 tạ

50 kg = 5 yến

300kg = 3 tạ

80kg = 8 yến

1200kg = 12 tạ

b) 1000kg = 1 tấn

10 tạ = 3 tấn

8000kg = 8 tấn

30 tạ = 3 tấn

15 000kg = 15 tấn

200 tạ = 20 tấn

c) 100cm2 =1 dm2
100dm2 = 1 m2
800cm2 = 8 dm2
900dm2 = 9 m2
1700cm2 = 17 dm2
1000dm2 = 10 m2
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